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POLITICAL SCIENCE

( General )

Paper : 5.2

( Select Constitutions—)

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

X5I |̂̂ v55l^ 1^ :

(a) Magna Carta' is intimately related with
the US Constitution.

( Write True or False )

'Magna Carta'
>QX5C£nv5v5K9 I ( % ^ l5p?fT)

(b) 'Collective responsibility' is a feature of
the British Cabinet system.

( Wnfe'True or False )

(%r^tw^n«fT)
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( 2 )

(c) The Declaration of Independence' of
America was published in

(i) 1689

(ii) 1776

{iiij 1789

(iv) 1857 ( Choose the correct one )

(i) 1689

(ii) 1776

(Hi) 1789

(iv) 1857 ( ^ )

(d) The UK Constitution is based on the
doctrine of 'separation of powers'.

( Write True or False )

( )

Upper House of

A is— 2S-/203

to " ''
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( 3 )

(f) Originally, the American federation
consisted of

(i) 13 States

(ii) 15 States

(Hi) 17 States

(iv) 19 States
( Choose the correct one )

(i) 13 ^
(ii) 15 W
(Hi) 17 ^ ^ ^
(iv) 19 '«R W

(g) The President of United States holds the
office for

.1
(i) 3 years

(ii) 4 years
(iH) 5 years ' . . :

(iv) 6 years • -
( Choose the correct one )

>6||C^jR4H wNh

(i) 3 ^

(ii) 4 ^

(Hi) 5

(iv) 6 W ( ^ )
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( 4 )

(h) The President is the Supreme
Commander of the sirmed forces of

the United States.

( Write True or False )

(^) Who said—^^he Cabinet in England is
the steering wheel of the ship of the
State"?

(i) Lord Acton

(^) Laski

J. S. Mill.
Ramsay Muu:

( Choose the correct one ) ^

The Cabinet in England is
the steering wheel of the ship of the
State"?

fi) Lord Acton

Laski

J. S. MiU

Ramsay Muir

A15-~25*/203 •(( Continued )



I 5 )

(j) During emergency, the life of House
of Commons may be extended beyond

five years. ( Write True or False )

2. Answer the following : 2x5=10

v5of5 •

(a) Write two merits of the parliamentary
system of government.

^ 'S«T I

(b) Write two demerits ofpresidential fonh of
government.

^ OTI

(c) Identify two' features of the British
Cabinet.

(d) Mention two functions of the House
of Lords.

(e) Identify two features of 'rule of law'.

*rPFT''̂ ^ ?Rl I
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3. Answer any four of the following ; 5x4=20

(a) Write a note on 'constitutionalism'.

vil'gl I

(b) Why is the British Constitution regarded
as flexible?

(c) Write a note on 'checks and balances'.

«fW5u'^ R<ic^ vij'&I I

(d) Discuss the composition of_the US
Congress.

(^) Briefly discuss the 'Bill of Rights'.

15^ >4>llCe11Ml ^ I

(f) Write a note on 'presidential form of
government'.
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( 7 )

4. Answer any four of the following : 10x4=40

(a) Discuss the salient features of the
US Constitutipn.

2f«tH ^1C«^1M1

I

(b) Compare the powers and position of
the Prime Minister of Britain and the

President of USA.

3«fR5iSt
^5n?p <p<?i I

(c) Discuss the executive ' powers of the
US President.

41^^iD wsi4 Rto ^1(:«?iihi
I

(d) Analyze the powers and role of the
Senate.

(e) Discuss the functions and role of the
Supreme Court of USA.
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( 8 )

(f) Critically compare the power and
position of the House of Commons and

the House of Lords.

•n^lCeiP1l^ei<P ^0^ W I

(g) Discuss the main features of the British

Judicial System.

•Hlfw^19^ 2f*fH I

(h) Ansdyze the main powers of the 'Crown'.

-kir-k
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